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- chz @ Sy nsTm

- 1700 49 AAUTVUNF YN

relay @0 5tad

-LOW @2 nu ow much is the
-HIGH @d D ch 2 signal valug

relay1, LOW
relay2, HIGH
relay3, HIGH
relay4, LOW
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- chz @2 NS THn

- 1300 A9 ANAUTWY NI
relay & St

-LOW & nm

-HIGH &d hirinam

How much is the
ch 2 signal value%

relay1, HIGH
relay2, LOW
relay3, LOW
relay4, HIGH
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- ch3 & Ty Tm

- 1300 {9 AMNUSVUINFTYY I
relay @ 5ad

-LOW @ "
¥ How much is the
-HIGH &o Do
ch 3 signal value?

relay1, HIGH
relay2, LOW
relay3, HIGH
relay4, LOW




Flowchar! UFANNISAINIMIKYN

MTARYN

- ch3 & FynensTun

- 1700 &9 ANNUTVYINF I
-ulag @ ﬁa{l

-LOW & A

-HIGH &d latrinam -
How much is the
ch 3 signal value?

relay1, LOW
relay2, HIGH
relay3, LOW
relay4, HIGH
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-LOW @2 A How much is the
-HIGH & Do ch 2 signal value?

relay5, LOW
relay6, HIGH
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Arduino IDE

Told vl sw winafle dwmia

code_remote
hnt chl;
int ch2;
int ch3;
const int relayl
const int relay?
const int relay3
. 1nt relayd
int relayb
st 1int relayé6
#include <Servo.h>
Servo myservo;
void setup () {
myservo.attach(Al);
pinMode INPUT); // Set our input pins as such
INPUT) ;
INPUT) ;

pinMode

(6
(7
= (1
-H(relayl
:(
pinMode (relay3,
ode (relay4,
e (relayb,
(

ode (relayé,

Serial.begin(9600) ;

OUTPUT) ;
OUTPUT) ;
OUTPUT) ;
OUTPUT) ;
OUTPUT) ;
OUTPUT) ;

// Pour a bowl of Serial




Arduino IDE W afla 1wt srawto

code_remaote

{
= pulseIn(l, HIGH, 25000); // Read the pulse width of
pulseln (6, HIGH, 25000); // each channel
pulseIn (7, HIGH, 25000);
Serial.print ("Channel 1:"); // Print the wvalue of

Serial.println(chl); // each channel

Serial.print ("Channel 2:");

Serial.println(ch2);

Serial.print ("Channel 3:");

Serial.println(ch3);

delay(100); // T put this here just to make the terminal
// window happier

if (ch3 > 1700)
L4 .

{ ‘
digitalWrite(relayl, HIGH);
digitalWrite(relay2, LOW);
digitalWrite(relay3, HIGH);
digitalWrite (relay4, LOW);

gitalWrite(relayl, HIGH);
digitalWrite(relay2, HIGH);
digitalWrite(relay3, HIGH);
digitalWrite(relay4, HIGH);
}
if (ch3 < 1200)




Arduino IDE

code_remote
if (ch3 < 1200)
{
digitalWrite(relayl,
digitalWrite (relay2,

digitalWrite

(
(
(relay3,
(

digitalWrite (relay4,

(ch2 > 1700)

digitalWrite (relayl,
digitalWrite (relay?2,
digitalWrite (relay3,
digitalWrite (relay4,

1f (chz < 1300)

digitalWrite (relayl,
digitalWrite (relay2,

digitalWrite (relay3,

(
(
(
(

digitalWrite (relay4,

if (ch2 > 1700)

digitalWrite (relayb,
digitalWrite (relayé6,

LOW) ;
HIGH) ;
HIGH) ;
LOW) ;

LOW) ;
HIGH) ;




Arduino IDE

)

Tl wile ow wdnafls shamin

code_remote

if (ch2 > 1700)

{
digitalWrite (relayl, LOW);
digitalWrite(relay2, HIGH);
digitalWrite(relay3, HIGH);
digitalWrite (relay4, LOW);

if (ch2 < 1300)

digitalWrite(relayl, HIGH);
digitalWrite(relay2, LOW);
digitalWrite (relay3, LOW);
digitalWrite(relay4, HIGH):;

1

if (ch2 > 1700)

{

digitalWrite (relay5, LOW);
digitalWrite(relay6, HIGH);

lse {
digitalWrite(relay5, HIGH);
digitalWrite(relay6, HIGH);
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